O HE C pwME|
S I @S cE
C— #Hersim ) SPIEO
) HEUsm @ USART
RN
(GND} ®
3v3} o
3v3} ®
o—f | PWM
o @ L_}-0—{16 {PWW)
O . 2 4 teeRassssRssssRs s, 17 .
§ ¥{ln Y
[RESET) ® rs Em 1’1‘*ﬁ 18 @ EsER
SWV AB 17 o—E L @
(PWI o (@ 10 IR o (20—
— = B+ o +—o—L JE nnnnnm 2 -0 21 +{PW)
P A5 51— MK = ST£{1|32§ ]
(55T (A o—L K = = _J-o(7)
T
SCKT (6 +—o0— | "I" ; 28 Jo
SO DWWV i 5 o—f | % P % PWN
VIO PWN ; 7 o—fL | R B _J-0
PWM AD 3 o—L JE L _W-0—{27 {PWW
(PWI 1oL | __Jo—(78
(X33 ) o _ J-0{(729}
(RX3} {0 o - o0
o

5V

_J-o{313




